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@2x3+2x2—2x—3 @ 2x* +2x24+2x-3

@ 23 +2x24+2x+3 @ 2x3 +6x2-2x+3

® 2x* +6x2-2x-3
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A-2B € 57378 Fol A=
A=2B=(2x3+4x>-T7) - 2(x> + x - 2)

=2x3 4+ 4x2 - 7-2x* -2x+4
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D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1
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D352 +x+1 @ x2+x+1 @ 3x2+1
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U2 7} 4x - 5L wf, o] x}A] ]:; ;f‘;‘t—r B

@ 3x2-2
@ 3x% -
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o, TFHA] f (x) & 2x + 1 2 Ys 5 0 (x) & YA RS F5HH?

D@ Qox)=24>-x,R=1 @Q(x):2x2+x,R:1
® Q0kx)=2x>-2x,R=1 @Q(x):4x2—2x,R:%

® Q(x):4x2+2x,R:%

mbA f(x) = 4x3 + 4x2 + x + 1
=x(4x? +4x+1)+1
=x(2x+1)?+1

2+ 12 UHFAQ(x) =242 +x, R=1
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@x2+2x+2 @ ¥ +x+2 ® ¥ —x+2
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B |
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=(A+x)°
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14. (& +ax+2)(x2 +bx+2)E ANAES W], 2 3 2] A& 50
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1
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O] Al ¥19] Aol a, b, ¢ ol h
P42+ =ab+bct+calla?+b>+c2—ab—bc—ca=0

1
§(a2—2ab+b2+b2—2bc+02+02—2ca—|—a2):0

=(2a® + 2b? + 2¢% — 2ab — 2bc — 2ca) = 0
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R-xytyP=(xty)2 -3y =1
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19. a+b+c=7a>+b>+c? =21, abc =84 W, a®b? + b>c? + 2a?
o] 27

@ 26 @ 48 @84 @ 96 ® 112

~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)

49 = 21 + 2(ab + bc + ca)

" ab+bc+ca=14

a’b® + b%c? + c?a® = (ab + bc + ca)? - 2abc(a+ b + )
= (14)2 -2(8 x 7)

=384




20. x+y+z=3, xy+yz+zx=—-1D o x2+y%+72 9 ZHS F5HH?

@11 @ 12 ® 13 @ 14 ® 15

P+ +22=(x+y+2)?2-2(xy+yz+x2)
=9+2=11
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(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27
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B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
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x+y=2 x4y =149 o, x5 +y° 9] FtZ FoFH?

O 12 @ 32 ® 52 @82
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® 102

By = (2 +y?) (0 +5%) - Py (x+y) - (3)
x4y = (x+y)° - 3xy(x + )
© 14 =8 —6xy

P4y =(x+y)?2-2xy=4-2(-1)=6------ ©)
@, @, @2 (x)°fl dHUsHA
B+ =6x14-2=82




